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Zn + 2NaOH + 2H,0 — Na,[Zn(OH)4] + H;

teris | CuO + H, = Cu + H,O
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I U7TeN2 EH2 3 ZFNZ411.0 mol& 3.0 mol& 7% %,

N2 + 3Hp <& 2NH3

2.0mol 5.0 mol 0 (RISHIDOYIE &)
—1.0mol —3.0mol  +2.0 mol (Z{bL7-¥&s)

1.0mol 2.0 mol 2.0 mol (CE#RF OYrE &)

[INH3] = 2.0/8 (mol/L) & 7% %,

PR,
w  INHg? - (2.0/8)2

[N,][H,]3 (1.0/8)(2.0/8)3

SRR OB )IVIEEX, [N2] = 1.0/8 (mol/L), [H2] =2.0/8 (mol/L),

= 32 (mol/L)~2 TR K 32 (mol/L) 2
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CeH {206 — 2C2H5OH+ 2C0O»
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CU_ZO

_ C2H5OH — C2H4 + HZO
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IK FETHIET 2728, TF L2 nE=K5E—KOBIHNZER T =

100000—4200=9.58 X 10* Pa
PV=nRTX D

9.58 X 104PaxX V=5 mol X 8.3%103Pa + L/(K * mol) X 303 K

> T, V=5%X8.3X10x3.03/9.58
=131.26
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1) cos26=1-2sin’6 LY, sin?@==(1—cos28) ==(1—t) L725DT,
(Vésing)” = 6sin?6 = 3(1—t)
VB—VZi_ VB—2i fiZi_1 . 21 = ; v
B i s Wy ==zl g &Y,
1
5
3) Iog2ﬁ=%logg3 , logs2<log,3 <log,4 LV, é'ilogz\ﬁc:i i V& ds (=+2) &b,
1 1
= < log, V3 < 22
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1)} B=dy=d= 2 qE 50 F0. gooch=§ om=1,
2) M;=24-5=40= 2%:3%51 L j=3 E=0,m=1,
3) Ppyy EOEFO2oO0ESE (i), (i)OWBEOMERS, (1) SWIAR n BHITT j BHFHTLRVES (F
Ei1-p, ) 12, EHITHLH—EHRITT, 2 £iL 6 (=2-3) DHNBHS {E#a’hg ), (ii)&WZ A% n B
FT j BHEETHLEE (BE p, ) IZ, EBICLI—ERTT, 1,3,4,5 OXIOBENBHS (Fﬁ*—‘ég Yo 1
T,
1 2 1
pn+1=§ (l_pn}'i_g Pn = g (1+pn)
D) (pass—)=3(pp—c) ERDBEK ¢ BHBETHE, pupa=5 Q c+p,) L@ORRLY, c=3 LR,
-F, EWZ A% 1 EIET T, j REHL A0 2 £k 6 (=2-3) DHBEHABETHEND, p1=-31-
LT o d PR g o ) _1 . LAEOT HEE —r e
LEDST, qu=pa—3 £BE, qa=p1—3= =3, Gua1=7 @a ERDOT, {q.} FAE -, Ak 3
4 A E oy MRS SR ) S NOE. = 3n T
DBRYFIL D, 2FY, qu=—3F - (5) =-3x5 ., LEXoT,
1 1 1
Pa=3+a= 3(1-5)
M3 fx)=x, filx)=—(x—ap)’+bt L, 2EFHBX f(x)—folx) =0 OHHPXE D LT3,
T, 2R HEBK filx) -
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D>0 tianiEiwv, fix)—folx)=—-2 x*+2a,x+b,—a% LY, D=4 a2+8(0b,—a)>0, 2FEY, b, >
3 @ . ZORK a,, by PRERATEE, -(1-52+13>3-4n LY, —n?+8n-12>0, 2%,
-n-2)(n—-6)>0 LRDHDT,

n=3 ,4,5
(1) 5,>0, x=q,0%k %, fox)=Ffi(x) L7250, 29,=-29,+2a, LY,

1

In =§an
(2) BEXOOEA VS, 2ORREY, n=3,4,5 ODLEZ, S, <82 LAz rEFHiELv. VWE,
BT oOQICHAD (AT, , TIZBTA2HD®W C, , C DENFROERBIV 2 2OEMR x=w, ,x=2z, T

BEnBF) REANIHCTHY, TOEME S5 LTHL, S,<Sh LB, x=q. =2 OLE f,(%)-

2

fo(2) EEROPAEAROEDOES LRY, Sh={f(2)-fo(2)} @ -—wa) 22, 22T, wy, 2, 12

2

2RFBRA ()~ folx) =0 ODRARD 2ODEEMTHBMD, z,—w, =;VD = /2b, — a2 . £, f; (“?) -

#(2)=tat v, <h 20, WA,

Sa= (_Eaﬁ + bn)\!an —a2 =12 (J—(n -2)(n—6) )3

2

ek, LIdoT, $3=3V6,5:=8V2,5:=36, 2 =T,
Ve<V8=2V2 LV, 3/6<6y2<8YZ, oFH, S§;,S8:<
5t LIERBRST, n=3 ,4 .5 DLE,

S, <Si= 8Y2 (=53)
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